YN 4-72 RRER O I8 XA 4-72 RREE L@ X YSHIIN

| 4-72BYE @RS BESEER PERFORMANCE PARAMETER TABLE --1
ENTRIFUGAL VENTILATOR

4-72 BYEE OB DD 4-72BLXNIMERERR  #EOE/:P=101325Pa AR T=20°C M REE: p=1.2kg/m3
il &3 | i 53 yim3/h 2k M| NIER iR FiTBC EEAL
| Bi& USES =) 77X | r/min 2 e Pa % Kw kW 5 YIRKW
N o 1 1131 994 69.3 0.45 0.67
1. 4-T2 BELNENNEERGREN—RI MAREFRYNZERNEBEXNESHEEZTSTANECATBR. AZB. FNEL T AR 2 1310 966 73.2 0.48 0.72
TE ST TE M 2 SE; B4-72 BB GBRV AIHEX Z A SIEER S, F4-72 BB OBV B B T s g it K, 3 1480 933 75.5 0.51 0.71
{8 4-72. B4-72. FA-T2 BIOBRNEIRH ARG SHENR, et RERIKYFATF 150mg/m®, SSEEREHE 2.8 A | 2000 —2 1659 887 76.8 | 0.53 | 0.73 Vvo059@m35)| 1.5
20°C 5 1828 835 76.9 0.55 0.77
° 6 2007 770 75.6 0.57 0.79
2. B4-72 BIRWIBHEESIER G RMER TS 4-72 81—, Al ARIEFR ZNNEHWE RS 4-72 BU4EE), N°2.8A~6A K 7 2177 702 73.2 0.58 0.81
B35 Btk 25 5 EE MY FEhH], Ne6~12C. D BEhH MRS Y REERIRIAY YB 251, RERR A B3, 8 2356 606 9.3 | 0.57 | 08
1 1688 1300 69.3 0.88 1.23
3. F4-72 B C0B XN R BA S, BN o B i /@ rha AL & , EMREF M E RS 4-72 BV E CuB XA LAER. 2 1955 1263 73.2 0.93 1.81
3 2209 1220 75.5 0.99 1.38
4. 4-T2RBLBERIERERERRPHNI, AT R ERRLBONY, \EERATIM FHE, NBIPENEBRS, . 217e 160 1 68 T Tos | 13a
MIALBRINE RS 2R, NFAE SRR ARERINE,4-72 BUXFELL AT Do 82 £ 220 5 2729 1091 76.9 1.07 1.39 Y50L-2 (B35) 22
6 2996 1006 75.6 1.1 1.43
| 2 TYPE 7 3250 918 73.2 1.13 1.47
8 3517 792 69.3 1.11 1.45
1. MEBH—BRIERT, RUHECIRIRETS 5 AbEse &7 “BRERA”, LU 1 844 324 69.3 | 0.11 | 0.16
_ _ 2 978 315 73.2 0.12 0.17
[13 ”» ey |—|| > IR \\ “ ”» YK ”» Z o
B RR, RZNWIGRZ A KRR, LLE” Row 3 1104 304 5o 0.12 0.1
2. AR USRI AERR, 4-72 LRHING2S ~ 6 32 | A |80 T es Tots [ oa ] PO ®S| 1
R — AR, SRR REERERERFEENNE, > > - : :
T, e o 9y5e R 6 1498 251 75.6 0.14 0.21
-L_J-)'_‘\ETJ%/)\/I Ho,\q:l . N—28 Hjml]{ﬂ%u:_l_ﬂi}e-ﬂf 5 ) |E—|.”}WJIE 7 1625 229 732 0.14 0.21
45°; N°3.2 ~ 6 B X AEESEER 0°~ 225°, [ElfRE 22.5°; Ne8 ~ 12 8 1758 198 69.3 0.14 0.21
HXOEZESEER 0°~ 225°EIF82 45°; N°16.20 HE X OAEFIREE 1 2664 1578 74.2 1.56 2.03
_ e - 2 3045 1531 77.8 1.65 2.15
N P 0\ o\ o’ Nz :‘;%! 11‘2 \557 B o
Y =7% 0°.90°.180°, FEEIHZE, 1] 5aAY S5 R 3 SA0: il 30,3 I D105
3. XNBYEEN S B AL B. C. D GF#h: 4-72 BYXA A, N2.8 ~ 5 K FH 3.6 A 2900 4 3786 1419 82.1 1.81 2.35 Y100L-2 5
A TRETN, No6 BE A SEEINA C TN, Nog ~ 12 KA C. D Fiid Z ng Bgz gig }22 22452 (B3S)
BT, Ne16 ~ 20 KA B HALEh, 7 4887 1144 79.5 1.95 2.53
NERNS EohAXHOBREREENEEF2E, B BEhAESEH kI, EEEFHR AL, 8 5268 989 74.3 1.94 2.52
1 1332 393 74.2 0.2 0.29
| &5¥3STRUCTURE 2 1522 381 77.8 0.21 0.31
3 1703 369 80.3 0.22 0.33
72 BB L ERUINGD. 8A ~ BHEE A RO, 5348, No6C FINOS ~ 20 IR B iR tsh, i 12 ah R4, ) , )
4 -T2 BB @ XAING2.8A ~ 6A EEHMIC A5E. # X O BB EIL D LH R, No6C FINeS ~ 20 BB _EIRLEMIN , BB EEhEF 9 3.6 A 1450 451 ;igz 222 ggé ggg 82; Y9054 (B35) 11
Mg — MNEINEBRMH . fEE R EFF AR, AR - FREa®) HiiE, SohEr TR BRI . - -
O M — B 10 NV ERM A R R EMTIRGEEAR, Bk (B4-72 BHRE®) fhiE, Anifd FERIEMBREE . 5763 313 18 001 036
LI, WS, TR FRARE, TRMERIT. 7 2444 285 79.5 0.24 0.36
@ ME — WA RERT, Erh: No2.8 ~ 12 MR, FEERTToN16 ~ 20 HIEHIM =T, BRIRKED NFLI, 51* igi‘z‘ 220411 7747-3 2;3 gjg
Lﬂfﬁﬁfﬁﬂplt\éiﬁﬁﬁﬁﬁfﬁ, ﬁﬁi%*@ﬁﬁ: L‘,(@Z‘E%\ éﬁf@ﬁﬂﬁﬂ(}\iﬁﬁiﬂj D-I—E/I’_\:o 2 4506 1969 80.3 3.05 3.66
3 FHXO — LB, T XN —M, SihEFTAERE NRZEAOR, (EB RS RINFH NI, iR, 3 4973 1915 82.5 3.1 3.82
B . e i A S 4 5468 1830 84.1 3.28 3.94 Y13281-2 c
@ 'ﬁ?zﬁt — EEEEEE\EEE(%E\ /&Eﬂﬂiﬁ(\ﬁmibiﬁﬂﬁﬂl%éﬁﬁio 5 5962 1723 84.6 3.35 4.02 (335) .
e e s L ) . B . . 6 6457 1606 83.7 3.42 4.11
ITBRAUVAL T el A A B XN S . R =T R B e i 75 ml, DAR HBh LY 5 D% | 8 H 7 6924 1459 31.4 3.43 211
8 7419 1320 77.5 3.49 4.19

19 20



X

4-72 HREB LERA

4-72 RREE 0@ X

G4

21

| 4-72B8E @XM IEBESEER PERFORMANCE PARAMETER TABLE --2

| 47285 EXHIEBESEER PERFORMANCE PARAMETER TABLE --3

4-72B 0 RNIERESR HEOEH:P=101325Pa

AR T=20°C

A REE: p=1.2kg/m3

4-728 0 RMIRER  HOES:P=101325Pa

B E:T=20°C

R E: p=1.2kg/m?

#l &g | i FF - 2% BEE | WU |iRER B AL
g2 | 5% |ymin| = [TEO¥R L % Kw | kW RIE HHKW
1 2006 501 77 0.36 | 0.54
2 2253 490 80.3 | 0.38 | 0.57
3 2487 476 82.5 0.4 0.6
A A 1450 4 2734 455 84.1 | 0.41 | 0.62 Yoos4 B3s)| 1.1
5 2981 429 84.6 | 0.42 | 0.63
6 3228 400 83.7 | 0.43 | 0.64
7 3462 363 81.4 | 0.43 | 0.64
8 3709 329 77.5 | 0.44 | 0.66
1 5712 2554 77 5.21 6
2 6416 2497 80.3 | 5.49 | 6.32
3 7081 2428 82.5 | 5.74 6.6
s A 2900 4 7785 2320 84.1 | 5.92 | 6.81 | Y132S82-2 75

5 8489 2184 84.6 | 6.04 | 6.95 (B35)
6 9194 2036 83.7 | 6.17 | 7.09
7 9859 1849 81.4 | 6.17 7.1
8 10562 1673 77.5 6.3 7.24
1 2856 634 77 0.65 | 0.91
2 3208 620 80.3 | 0.69 | 0.96
3 3540 603 82.5 | 0.72 1
4 3893 577 84.1 | 0.74 | 1.04
4.5 A 1450 5 4245 543 84.6 | 0.76 1.06 Y008-4(B35) | 1.1
6 4597 506 83.7 | 0.77 1.08
7 4929 460 81.4 | 0.77 1.08
8 5281 416 77.5 | 0.79 1.1
1 7728 3187 77.6 | 8.72 | 10.02
2 8855 3145 81.8 | 9.35 | 10.76
3 9928 3074 84.7 9.9 | 11.39
s A 2900 4 11054 2962 86 10.47 | 12.04 | Y160M2-2 s
5 12128 2792 86.1 | 10.82 | 12.44 (B35)
6 13255 2567 84.6 | 11.07 | 12.72
7 14328 2335 82.1 | 11.22 | 12.9
8 15455 2019 77.6 | 11.09 | 12.75
1 3864 790 77.6 | 1.09 1.42
2 4427 780 81.8 1.17 1.52
3 4964 762 84.7 | 1.24 | 1.61
5 A 1450 4 5527 735 86 1.31 1.7 Y100L1-4 99
5 6064 693 86.1 1.35 1.76 (B35)
6 6628 637 84.6 | 1.38 1.8
7 7164 580 82.1 1.4 1.82
8 7728 502 77.6 | 1.39 1.8
1 6677 1139 77.6 | 2.71 | 3.25
2 7650 1124 81.8 | 2.91 | 3.49
3 8578 1099 84.7 | 3.08 3.7
p A e 4 9551 1059 86 3.26 3.91 Y112M-4 4
5 10478 999 86.1 | 3.36 | 4.04 (B35)
6 11452 919 84.6 | 3.44 | 4.13
7 12379 836 82.1 | 3.49 | 4.19
8 13353 724 77.6 | 3.45 | 4.14

#l a3 | ik F B3/ £JE ME | AR iR FrBE AL
2 | #® |ymin| = |70 Pa % | kw | kw WE | UKW
1 4420 498 77.6 0.79 1.1
2 5065 492 81.8 0.84 1.18
3 5679 481 84.7 0.89 1.25
A 960 4 6324 463 86 0.94 1.32 Y100L-6 15
5 6938 437 86.1 0.98 1.37 (B35)
6 7582 402 84.6 1 1.4
7 8196 366 82.1 1.01 1.32
8 8841 317 77.6 1 1.3
1 10314 2734 77.3 10 12.1
2 11818 2698 81.6 | 10.73 | 12.98
3 13251 2637 84.7 | 11.35 | 13.74
S50 4 14755 2541 86 12 14.53 T =
5 16187 2396 86.1 | 12.41 | 15.02
6 17692 2202 84.6 0.69 | 15.36
7 19124 2004 82.1 | 12.87 | 15.57
8 20628 1733 77.6 | 12.71 | 15.39
1 9209 2176 77.6 7.11 8.61
2 10552 2147 81.6 7.64 9.24
3 11831 2099 84.7 8.08 9.78
2000 4 13174 2022 86 8.54 | 10.34 V160M4 1
5 14453 1907 86.1 8.83 | 10.69
6 15796 1753 84.6 9.03 | 10.93
7 17075 1595 82.1 9.16 | 11.09
6 8 18418 1380 77.6 9.05 | 10.95
1 8288 1760 77.6 5.19 6.28
2 9497 1736 81.6 5.57 6.74
3 10648 1697 84.7 5.89 7.13
c i 4 11856 1635 86 6.23 7.54 e -
5 13008 1542 86.1 6.44 7.79
6 14216 1418 84.6 6.58 7.97
7 15367 1291 82.1 6.68 8.08
8 16576 1116 77.6 6.60 7.98
1 7367 1389 77.6 3.64 4.6
2 8442 1370 81.6 3.91 4.94
3 9465 1339 84.7 4.14 5.23
4 10539 1291 86 4.37 5.53
1600 5 11562 1217 86.1 4.52 5.71 Y1325-4 55
6 12637 1119 84.6 4.62 5.84
7 13660 1019 82.1 5.92
8 14734 881 77.6 4.63 5.85
1 5756 846 77.6 1.74 2.38
2 6595 835 81.6 1.86 2.55
3 7395 816 84.7 1.97 2.49
950 4 8234 786 86 2.09 2.63 V100Lo4 :
5 9033 742 86.1 2.16 2.72
6 9873 682 84.6 2.20 2.79
7 10672 621 82.1 2.34 2.82
8 11511 537 77.6 2.21 2.79
22




YN 4-72 PRER O I8 XA 4-72 RREE O &E XA XHIN

| 4728 B ERHERESEER PERFORMANCE PARAMETER TABLE -4 | 4-72B4E @XM S BESEER PERFORMANCE PARAMETER TABLE --5
4-72BDXMIERER  #ECEJ):P=101325Pa AFRE:T=20°C  AFEE: p=1.2kg/m? 4-72B D RHIPERESR  WEOEJ1:P=101325Pa /MBI E:T=20°C /%)% : p=1.2kg/m*
Hl &5 | iR 52 —— £k ME | NYIE iR B AL | #E 35k _ DT N e NI BT EELAL
1 5157 679 77.6 | 1.25 | 1.71 T Toeae eV Y 185
2 5909 670 816 | 1.34 | L83 2 22511 3101 81.8 23.46 | Y200L1-2 30
3 6626 655 84.7 | 142 | L54 3 25240 3032 84.7 24.83
1120 —2 7378 631 86 1 1.50 1 2.05 | vi40114 2.2 1800 | 4 [ 28105 | 2920 86.0 26.25
> 8094 595 86.1 | 1.55 | 2.12 5 | 330834 | 2754 86.1 27.12
6 8846 547 84.6 | 1.59 | 2.17 3 33699 2531 346 57 74 | Y200L2-2 37
7 9562 498 82.1 1.61 12.2 7 36427 2302 82.1 28.13
8 10314 431 77.6 1.59 2.17 1 17463 2478 77.6 15.35
1 4605 541 77.6 | 0.89 | 1.31 2 20010 2445 81.8 16.47 | Y180M-2 22
2 5276 534 81.6 | 0.95 | 1.31 3 22435 2390 84.7 17.44
3 5916 522 847 | 1.01 | 1.38 1600 4 24982 2303 86.0 18.43
4 6587 503 86 1.07 | 1.46 5 27408 2171 86.1 19.05
1000 5 7227 474 86.1 | 1.10 151 | [100L14 2:2 6 29954 1996 84.6 19.49 | Y200L1-2 30
6 7898 436 846 | 1.13 | 1.54 7 32380 1816 82.1 19.76
7 8538 397 82.1 | 1.14 | 1.57 1 13643 1507 77.6 7.32
c 8 9209 344 77.6 | 1.13 | 1.55 2 15633 1487 81.8 7.86
1 4144 438 77.6 | 0.65 0.96 3 17527 1454 84.7 3.31
2 4749 432 81.6 0.70 1.03 1250 4 19571 1401 86.0 8.79 Y160M-4 11
3 5324 422 84.7 | 6.74 | 1.09 2 gj(l)g 1321 Si-é Z-gg
4 5928 407 86 0.78 | 1.15 1215 . .
900 5 6504 384 86.1 | 0.80 | 1.19 Y9O0L-4 15 7 25297 1106 82.1 9.42
6 7108 353 84.6 | 0.82 | 1.21 1 12224 1209 77.6 5.26
- —ead 322 921 | 083 | L2l 2 14007 1193 81.8 5.65 Y132M-4 7.5
6 8 8288 278 /7.6 | 0.82 | 1.22 8 c | 1120 i }?Zﬁ? ﬁgi 22'3 2'22
1 3684 346 77.6 | 0.46 | 0.72 : :
2 4221 341 81.6 | 0.49 | 0.72 2 ;g;gg 1907650 gi'é 2'22 Y160M-4 11
3 4733 334 84.7 | 0.52 76 > T o Nl e
800 |—r 1 2270 222 861 055 1 981 1 yops4 1.1 1| 10914 | 963 776 | 375
g Sl 28 Sl || 57 || 05 2 12506 950 81.8 4.02 5.5
6 6319 279 846 | E58 | 0.85 3 14022 929 84 7 2.96 Y1325-4
/ 6830 254 82.1 | 0.59 | 0.86 1000 | 4 | 15614 895 86.0 4.50
8 7367 220 77.6 | 0.58 | 0.85 s 17130 344 6.1 165
1 6677 1139 77.6 | 271 | 3.32 6 18721 >77 34.6 4,76 7.5
2 7650 1124 81.8 291 3.56 7 20237 707 82.1 4.82 Y132M-4
3 8578 1099 84.7 3.08 3.77 1 9823 779 77.6 2.73
1450 4 9551 1059 86 3.26 | 399 | vi1oM-4 4 2 11255 769 81.8 2.93 Y112M-4 4
5 10478 999 86.1 3.36 4.12 3 12620 752 84.7 3.10
6 11452 919 84.6 3.44 4.21 900 4 14052 725 86.0 3.28
7 12379 836 82.1 | 3.49 | 4.27 5 15417 683 86.1 3.39 o 55
b 8 13353 724 77.6 | 3.45 | 4.22 6 16849 629 84.6 3.47 i :
1 4420 498 776 | 079 | 1.12 7 18213 572 82.1 3.52
2 5065 492 81.8 | 0.84 | 1.21 1 8732 615 77.6 1.92
3 5679 481 847 | 0.89 | 1.28 200 2 10005 607 81.8 2.06
960 4 6324 463 86 0.94 | 1.35 V10016 s 3 11217 594 84.7 2.18
5 6938 437 86.1 | 0.98 | 1.39 4 12491 572 86.0 2.30 | Y100L2-4 3
6 7582 402 84.6 1 1.32 5 13704 540 86.1 2.38
3 3841 317 77 6 1 133 7 16190 452 82.1 2.47

23 24



XHI

4-72 RREB LERA,

4-72 RREE L@ XU

XS

| 4-728YE @R IEBESEER PERFORMANCE PARAMETER TABLE --6

| 4-72BYE @R EBESEER PERFORMANCE PARAMETER TABLE --7

4728 ORMIMERER  HELEF1:P=101325Pa A RIRRE:T=20°C /MiR%E: p=1.2kg/m®
e L2} L3 s s 2K & SPIES B FEATL
TR (eminy| T | @imy | @a) | 0 | &w) | mE | kkw

1 7749 485 77.6 1.34
2 8880 478 81.8 1.44
3 9956 468 84.7 1.52 Y100L1-4 2:2
710 4 11085 450 86.0 1.61
5 12162 425 86.1 1.66
6 13292 391 84.6 1.70 Y100L2-4 3
o c 7 14368 356 82.1 1.73
1 6876 381 77.6 0.94
2 7879 376 81.8 1.01
3 8834 368 84.7 1.06
630 4 9837 355 86.0 1.13 Y100L1-4 2.2
5 10791 334 86.1 1.16
6 11794 308 84.6 1.19
7 12794 280 82.1 1.21
1 34863 2373 86.7 26.27
2 37953 2341 88.7 27.59
3 41044 2247 89.0 28.57
1250 4 43690 2138 88.2 29.20 Y2255-4 37
5 46262 2018 86.6 29.73
6 48797 1877 84.2 30.02
1 31237 1902 86.7 18.9
2 34006 1877 88.7 19.85
3 36775 1801 89.0 20.55
1120 4 39146 1714 88.2 21.00 Y200L-4 30
5 41451 1618 86.6 21.38
6 43722 1505 84.2 21.59
1 27890 1514 86.7 13.45
2 30363 1494 88.7 14.13
3 32835 1434 89.0 14.63
10 ¢ 1000 4 34952 1364 88.2 1405 | Y8OM-4 18.5
5 37010 1288 86.6 15.22
6 39038 1199 84.2 15.37
1 25101 1225 86.7 9.81
2 27326 1209 88.7 10.31
3 29551 1161 89.0 10.66
200 4 21457 1104 88.2 10.90 Y160L-4 15
5 33309 1042 86.6 11.10
6 35134 970 84.2 11.20
1 22312 967 86.7 6.89
2 24290 954 88.7 7.23
3 26268 916 89.0 7.49
800 4 27961 872 88.2 7.65 Y160M-4 =
5 29608 823 86.6 7.79
6 31230 766 84.2 7.87

25

472D RMIMERER  HELIEF1:P=101325Pa A IRRE:T=20°C /MiR%E: p=1.2kg/m>
e ) | R e ik E i S PIES FTBCHLAL
552 . . k52
AR | (r/min) (m’/h) | (Pa) (%) | (kW) WE | HERKW
1 19802 761 86.7 4.81
2 21557 751 88.7 5.06
10 3 23313 721 89.0 5.23 V132M.A4 2 s
4 24816 686 88.2 5.35
5 26277 648 86.6 5.45
6 27717 603 84.2 5.50
1 17517 599 86.7 3.36
2 19128 591 88.7 3.53
. 3 20686 568 89.0 3.66 S o
4 22019 540 88.2 3.74
5 23316 510 86.6 3.81
10 c 6 24594 475 84.2 3.84
1 15618 473 86.7 2.36
2 17003 467 88.7 2.48
560 3 18387 448 89.0 2.57 V119M4 A
4 19573 426 88.2 2.63
5 20725 403 86.6 2.67
6 21861 375 84.2 2.70
1 13945 377 86.7 2.36
2 15181 372 88.7 2.48
- 3 16417 357 89.0 2.57 T4 .
4 17476 340 88.2 2.63
5 18505 321 86.6 2.67
6 19519 299 84.2 2.70
1 53978 2746 86.7 47.02
2 58763 2710 88.7 49.38
1120 3 63548 2601 89.0 51.13 128054 7
4 67645 2474 88.2 52.27
5 71627 2335 86.6 53.21
6 75552 2172 84.2 53.73
1 48195 2185 86.7 33.47
e | e e Lo s |
12 C 1000 . .
4 60397 1969 88.2 37.22
5 63953 1859 86.6 37.88 | vosona -
6 67457 1729 84.2 38.25
1 43375 1767 86.7 24.40
2 47220 1744 88.7 25.62
900 3 51065 1674 89.0 2653 | vosonie 37
4 54357 1593 88.2 27.12
5 57557 1504 86.6 27.61
6 60712 1399 84.2 27.88

26



XN 4-72 SR FE B LB R 4-72 SRR FE B 03B R XN

| 4728 B BRI ERESERER PERFORMANCE PARAMETER TABLE --8 | 4728 E @R RES %R PERFORMANCE PARAMETER TABLE --9
4728 LIXLIERER MECIE):P=101325Pa #JRiE:T=20°C ff# & : p=1.2kg/m’ 4-72BORWIPERER IR /:P=101325Pa  /MRIEEET=20°C  /MR&JE: p=1.2kg/m?
i s B e B S A B A R il TR = B N T R e FrRCAL
i\ | (r/min) (m®/h) (Pa) (%) (kW) S | JPRKW 2 | %% |tmin| = | A % kw | kW ) RKW
1 | 38556 | 1395 86.7 1714 | ooor26 | 22 1 15826 | 2032 | 77.6 | 11.42 | 13.41
2 41973 1376 88.7 18.00 2 18134 2005 81.8 | 12.26 | 14.39
3 445391 1321 89.0 18.63 3 20332 1960 84.7 | 12.98 | 15.23
800 4 48317 1257 8.2 19.05 1450 4 22640 1888 86 | 13.72 | 16.1 | Y180M-4 18.5
Y225M-6 30 5 24838 1781 86.1 | 14.18 | 16.64
> 51162 1187 86.6 19.39 6 27146 1638 84.6 | 14.5 | 17.02
6 53966 1104 84.2 19.58 7 29344 1490 82.1 | 14.71 | 17.26
1 34218 1097 86.7 11.98 1 10478 887 77.6 | 3.32 | 4.06
P 37251 1083 88.7 12.58 2 12006 875 81.8 3.56 4.36
3 TR 1040 S0 13.08 3 13461 856 84.7 | 3.77 | 4.61
710 Y200L1-6 18.5 8 D 960 4 14989 825 86 3.98 | 4.88 | Y132M2-6 5.5
4 42882 989 88.2 13.32 5 16444 778 86.1 | 4.11 | 5.04
S 45406 934 86.6 13.56 6 17972 715 84.6 4.21 5.15
6 47895 869 84.2 13.69 7 19428 651 82.1 | 4.27 | 5.23
2 9130 506 81.8 | 1.56 | 2.08
2 33054 852 88.7 8.7 3 10236 494 84.7 | 1.66 2.2
630 3 35745 818 89.0 9.10 V18016 15 730 4 11398 476 86 1.75 | 2.32 | Yi32M-8 3
4 38050 778 88.2 9.30 5 12504 449 86.1 | 1.81 2.4
5 40290 735 86.6 9.47 6 13666 413 84.6 1.85 2.45
5 42498 84 4.2 9.5 7 14773 376 82.1 | 1.88 | 2.49
1 40441 3202 86.7 41 48.12
; zgzzi 232 :g'; Z'ij Y160M6 | 7.5 2 44026 | 3159 | 88.7 | 43.07 | 50.53
. . 3 47611 3032 89 4459 | 52.33
3 31774 646 89.0 6.39 e 4 50680 2884 882 | 45.58 | 53.49 | (2°0M+4 55
121 C %60 a2 615 38.2 .53 5 53664 | 2722 | 86.6 | 46.4 | 54.45
Y160L-6 11 6 56605 2532 84.2 | 46.86 | 54.98
> 35813 >80 86.6 6.65 1 26775 1395 86.7 | 11.9 | 13.96
6 37776 540 84.2 6.72 2 29148 1376 88.7 | 12.5 | 14.67
1 24097 543 86.7 4.18 10 D 960 3 31521 1321 89 12.94 | 15.18 18.5
2 26233 536 38.7 4.39 4 33554 1257 88.2 | 13.23 | 15.52 | Y200L1-6 :
3 28369 515 9.0 455 5 35529 1187 86.6 | 13.47 | 15.8
500 Y160M-6 7.5 6 37476 1104 84.2 | 13.6 | 15.96
4 30198 490 88.2 4.65 1 20360 805 86.7 | 5.23 | 6.14
S 31976 462 86.6 4.73 2 22164 794 88.7 5.5 6.45
6 33728 430 84.2 4.78 3 23969 762 89 569 | 6.68
1 21687 440 86.7 3.05 730 4 25515 725 88.2 5.82 6.82 Y160L-8 75
> 23610 434 28,7 3.20 Y132M1-6 4 5 27017 685 86.6 | 5.92 | 6.95
6 28497 637 842 | 598 | 7.02
450 R A7 S0 e 1 46267 | 2013 | 86.7 | 29.61 | 34.75
4 27178 397 88.2 339 | visoMo6 55 2 50368 1986 88.7 | 31.1 | 36.49
5 28778 374 86.6 3.45 ’ 3 54469 1906 89 32.2 37.7
960 Y280S-6 45
6 30356 348 84.2 3.49 4 57981 1814 88.2 32.91 38.62
5 61395 1712 86.6 | 33.51 | 39.32
1 19278 347 86.7 2.14 6 64759 1593 842 | 33.84 | 39.71
2 20986 343 88.7 2.25 12 D 1 35182 1160 86.7 | 13.02 | 15.28
400 3 22695 329 89.0 2.33 V13256 . 2 38301 1145 88.7 | 13.67 | 16.05
4 24158 313 88.2 2.38 3 41419 1099 89 14.16 | 16.61
730 Y2255-8 18.5
s 25581 296 6.6 > 4 4 44090 1046 88.2 | 14.47 | 16.98
5 46685 987 86.6 | 14.73 | 17.29
6 26983 275 84.2 245 6 49244 919 84.2 | 14.88 | 17.46

27 28



YN 4-72 PRER O I8 XA 4-72 RREE L@ XU YSHIIN

| 4-728U 5 EXHIEEESEER PERFORMANCE PARAMETER TABLE --10 | 4-72BE @XM S BESEER PERFORMANCE PARAMETER TABLE --11
4-72B 0 XHLERERR #ECEJ:P=101325Pa BRI T=20°C NIRELE: p=1.2kg/m3 4-72B 0 XHIPERERR  HECOEJ7:P=101325Pa T IRIRE: T=20°C NIREE: p=1.2kg/m3
M| e | s 52 AEmoh 2E ¥R | NIh% |FIER A HLAL BLo| feEh | ol i e——— EIE ¥E | NR |FiE® FC AL
N oo
2 | % |tymin| = [T Pa % Kw KW ) WIRKW 2 | 5] |rmin| = |77 Pa % Kw kW 5 HRKW
1 102810 3157 86.7 | 102.81 | 124.45 | ]S1256 130 1 158410 3069 86.7 | 154.04 | 186.46
2 111930 3115 88.7 | 107.98 | 130.7 | (Y315M3-6) 132 2 172460 3029 88.7 | 161.79 | 195.84
3 121040 2990 89 111.8 | 135.33 3 186500 2907 89 | 167.51 | 202.76
200 4 128840 2844 882 | 11428113833 | (510 155 710 4 198520 2765 88.2 [ 171.203 | 207.27] 151378 210
5 136430 2684 86.6 | 116.35 | 140.84 5 210210 2609 86.6 | 174.33 | 211.02
6 143910 2497 84.2 | 117.48 | 142.2 6 221730 2427 84.2 | 176.03 | 213.08
1 91392 2489 86.7 | 72.21 | 87.41 1 140560 2411 86.7 | 107.62 | 130.27
2 99493 2456 88.7 | 75.84 | 91.81 7 153020 2379 88.7 | 113.03 | 136.81
3 107590 2357 89 78.53 | 95.06 ) 3 165480 2284 89 [117.03 | 141.65
%00 e Tiiasso [ 2047 | 882 | 80.27 [ o706 | U7 o 630 ™4 176150 | 2172 | 882 |119.62 | 144.79| 151288 155
5 121270 2117 86.6 | 81.72 [ 98.92 5 186530 2050 86.6 | 121.79 | 147.43
6 127920 1969 84.2 | 82.52 | 99.89 6 196750 1908 84.2 [122.98 | 148.86
1 81110 1957 86.7 | 50.48 61.1 1 124950 1902 86.7 75.59 91.5
2 88300 1931 88.7 53.02 64.18 2 136020 1877 88.7 79.39 96.1
3 95490 1853 89 54.89 66.45 ) 3 147100 1801 89 82.2 99.5
710 4 101640 1763 882 | 56.11 | 6702 | Y31556 75 560 2 156280 1714 387 T 8407 [ 1017 ] JS1268 110
5 107630 1664 86.6 | 57.12 | 69.15 5 165300 1618 86.6 | 85.54 | 103.54
6 113520 1549 84.2 | 57.08 | 69.83 6 174890 1505 84.2 | 86.37 | 104.55
1 71971 1538 86.7 35.27 42.69 1 111560 1514 86.7 53.8 65.13
2 78351 1518 88.7 37.04 44 .84 2 121450 1494 38.7 56.51 68.4
3 84730 1457 89 38.35 | 46.42 i 3 131340 1434 89 58.51 | 70.82
630 4 90193 1386 88.2 39.2 | 47.45 IS 28 500 4 139800 1364 38.0 508 | 72.39 | Y315MI1-8 75
5 95503 1309 86.6 39.91 48.31 5 148040 1288 36.6 60.89 73.7
6 100730 1218 84.2 | 40.3 | 48.78 6 156150 1199 84.2 | 61.48 | 74.42
1 63974 1214 86.7 | 24.77 | 29.98 1 100400 1225 86.7 | 39.22 | 47.48
g ggg‘l‘g ﬁgg 8839-7 gg-gé 3312;469 2 109300 1209 88.7 | 41.19 | 49.86
: : - 3 118200 1161 89 42.65 | 51.63
=60 4 30172 1094 88.0 | 27.53 | 33.33 | Y2°0M-6 37 450 Y 132870 o7 ss0 a5 oy Y3155-8 55
2 2322421 1906313 Sg-g 2;3-0; gi-gg 5 133230 1042 86.6 | 44.39 | 53.73
: : : 6 140530 970 84.2 | 44.82 | 54.25
16| BC 1| 57120 967 | 86.7 | 17.63 | 21.34 20 | B/C 80550 Ser—T 8¢ T 572 13357
2 62183 654 88.7 | 18.52 | 22.41 2 97161 654 88.7 | 28.93 | 35.02
500 — 67246 o16 8 1 1.17 | 23.21 | yyr5m 30 3| 105070 916 89 | 29.96 | 36.26
4 71582 872 88.2 19.6 | 23.72 400 . T — 555 T 306 [ 3706 ] Y280M-8 45
5 75796 823 86.6 | 19.95 | 24.15 : - :
5 118430 823 86.6 | 31.17 | 37.73
6 79950 766 84.2 | 20.15 | 24.39 z 54950 —ec A5 515 351
1 51408 783 86.7 | 12.85 | 15.56 T 25509 el 867 | 19.26 | 23.31
2 55965 773 88.7 | 13.5 | 16.34 2 86230 751 88.7 | 20.22 | 24.48
450 3 60521 /42 89 13.98 | 16.92 | o 0L16 18.5 3 93252 721 89 20.94 | 25.35
4 64423 706 88.2 | 14.29 | 17.29 - : 355 : Soet T T g T oeer| Y250M-8 30
> 68216 666 86.6 | 14.54 | 17.61 5 105100 648 86.6 | 21.79 | 26.38
6 71955 620 84.2 | 14.69 | 17.78 2 110360 e 522 5 e
1 45696 618 86.7 | 9.03 | 10.93 1 70284 599 86.7 | 13.45 | 16.28
2 49746 610 88.7 | 9.48 | 11.48 5 e 1a - P REIRERE
3 53797 586 89 982 | 11.88 : : :
400 ™ 57265 557 | 882 | 10.03 | 12.15 | Y8016 15 315 —3 S 208 1 80 a6 LRIl vaosms 22
5 60637 526 86.6 | 10.21 | 12.36 3 5 :
5 93265 510 86.6 | 15.22 | 18.43
6 63960 490 84.2 | 10.31 | 12.48 2 e T E st T1o3 T I8 el
1 40555 587 86.7 | 6.31 7.64 : : :
> 14150 250 557 T 663 B0 1 62475 473 86.7 | 9.45 | 11.44
3 1T7aE 161 <G e T 531 2 68013 467 88.7 | 9.92 | 12.01
355 4 50823 439 88.0 | 7.01 | 849 | YLO0L6 11 230 i ;gggé j‘z‘z 88892 1106257 3‘7“1‘ Y2001-8 15
5 53815 414 86.6 7.14 | 8.64 : . :
o 6764 386 4.2 791 373 5 82902 403 86.6 | 10.69 | 12.94
* - - 6 87445 375 84.2 10.8 13.07
1 35985 383 86.7 | 4.41 5.57
3 42365 363 39 4.79 5 g 2 60726 372 88.7 7.06 8.55
sL5 4 45096 345 8820 | 4.0 | 503 | Y160M-6 = 250 3 65670 357 89 7.31 | 8.85 | yien1g 11
5 47751 326 366 | 2.99 04 4 69904 340 88.2 | 7.48 | 9.05
6 78076 299 84.2 | 7.68 9.3

29 30



X

4-72 PRER OB XA

| 4-72-12.B4-72-12 N2 2.8A ~ 6A BLiB N ZERZIMZRTE INSTALLATION & DIMENSIONS DRAWING

|—A2 A3 |
M(d1) XL1
Z=N
3 th
8 8a8 . [ ——°
/ —
o [l =0 )) - ¢ HRO A | . é %
| ¢ &0% BRAEH25° |
i I B , | ®
I N N - - - ;
z F\e : T = T3
g o gl | M(ds)XL2 ;h.Nﬁl I
0 . .
w J'_ 8 l: Bs
— As s8a $ X fodh ==
B =
' l ? d2
| Fnaxbi - 14 22
I = - - -
B1
B2
B3
L
7 B4-72 BYECHERH YB &Y
b1 N il K [m]
0w i 1 EEEEED
- S iz | MR ERES
D, | D, | D, (M@)xL] n, | B, [ B, | B, [ B, | By | B, | & | m, [myxb, [ n,xb,
Ne2.8 Pooso | 9280 9306 | 0324 | M8x10 | 8 | 196 | 228 | 251 | 224 | 256 | 278 | ®7 | 16 | 3x55 | 3x63
B
Ne3.2 “ZZii $320| ®350 | 0367| M6x10 | 16 | 224 | 256 | 279 | 256 | 288 [ 310 | ®7 | 16 | 3x60 | 3x72
Ne3.6 @ 2‘1’22;‘2 3360 | 3394 | b416| Mex16 | 16 | 252 | 284 [ 308 | 288 | 320 | 343 | @7 | 16 | 3x70 | 3x80
0 g
Nod f,:i zjzz:l —{ ©400| 0440 0462 M6X16 | 16 | 280 | 315 | 336 | 320 | 355 | 374 | 7 | 20 | 4X60 | 4x70
=R B >
Ned.5 g oo 9450 | 9490 | #512| M8x20 | 16 | 315 | 350 [ 371 | 360 | 395 | 415 | @7 | 20 | 4x70 | 4x78
= YB100L1-4
Nos i1 500 | 550 | #572| M8x20 | 16 | 350 | 385 | 406 [ 400 | 435 | 456 | @7 | 20 | 4x75 | 4x88
B
N6 o 5600 [ 650 0676 | M8x20 | 16 | 420 | 455 | 476 | 480 | 511|536 | @7 | 24 | 5x75 | 5x87
%% & A B R~
— s |7V | g
HOIE Bl BN
Ap| A | Al A | A | By | By | E B | E | B | BB H | H A LRy | e
3 2
196 | 100 [ 206 | 100 | 140 | 180 | 150 | 455 | 187 [ 268 | 226 [ 310 | 561 | 90 | 185 | M8X220 | 485 | 5.8 | 24.5| 21
221 | 100 150 514 22
224 | 115 140 | 180 519 [ 213 | 306 | 258 | 354 | 637 [ 90 | 185 | M8X 220 6.8 | 31.3
233|125 170 539 24
X
252 | 129 2351100 | 140 | 180 | 150 584 (240 [ 345|291 | 399 | 714 %0 185 M8x220 | 543 9.3 | 44.3 22
262 | 140 | 160 | 205 | 185 100 M10X220| 603 32
249 | 100 | 140 | 180 | 150 90 M8X220 | 571 22
280 | 143 647 | 265 | 382 | 322 | 442 | 789 185 13.9] 61.9
302 | 140 | 216 | 280 | 210 132 M10X220| 706 65
267 | 100 | 140 | 180 | 150 90 M8X220 | 606 22
315 | 161 728 | 298 [ 430 | 363 | 498 | 885 185 19.1] 82
320 | 140 | 216 | 280 | 210 132 M10X220| 741 70
311 | 140 | 160 | 205 | 185 100 | 185 |M10X220| 701 32
350 | 178 809 | 331 | 478 | 403 | 553 [ 981 21.7 1 90
391 | 210 | 254 | 330 | 275 160 | 260 | M12X300 | 871 123
4 160 | 205 | 1 1 771
420 | 213 [ 320 140 [ 2001205 1185 | o0 1 306 | 573 | 483 | 663 [11711222] 185 [ M10%220 26.7 | 132 |22
353 190 | 245 | 195 112 791 45
31

4-72 PREE BN XSIN
| 4-72-12.B4-72-12 N°6C. D B nEBRM R I R IMZR B INSTALLATION & DIMENSIONS DRAWING
1091.5
| =213 3285
1
e 16-M8 '
-
i T ] &
E b
~— 8 N\ = — Hies- - |
<t
. B!
2 e c-ol i
- 3 o F X leé
Ve 75 Eﬂ
T )
=— 5 x75 —=
& ‘&mo e E[
F 600 . 476 60
—— 396 — 375
969 495

| 4-72-12.B4-72-12 N°8. 10, 12C. D B BN LEERINERTEIR

INSTALLATION & DIMENSIONS DRAWING

MR 45° Jio0° ME135°
2
= O
@y
E
As _| B1o
0° 45° 90° 135° 180° 225°
Hl
=) H, Ag By H, Ag By H, Ag By H,; Ag B H, Ag By H, Ag B
8 980 400 450 890 450 400 810 450 400 750 450 400 700 450 400 700 450 400
10 1200 500 550 1100 550 500 1000 550 500 950 550 500 850 550 500 800 550 500
12 1420 600 650 1300 650 600 1200 650 600 1100 650 600 1050 650 600 1000 600 650

32




XY/ 4-72 FIRFEE LB RN 4-72 REEB O BRM YXSIIN

14-72-12.B4-72-12 N28.10.12C.D BB R RE KR SMZ R ~TE INSTALLATION & DIMENSIONS DRAWING | 4-72-12 N216B.20B B L@ RERIMIZRTE INSTALLATION & DIMENSIONS DRAWING
L
[ E7 E1 | L
—— A2 A3
- E12 —=t=— E4 —= E2 i =] A2 A3
M(d1) x L = ) M(d1) x L1 s s e
() 2 z=n
s n - - )
- ﬁ +a
o4 A ot 5 Y
il ® t ! | . ‘
, . r D3t ‘
T 4 Jif 90° - 8 e
B - f } II_ T vd i ‘
-« ~ ' ! E1 - , T
w i \ i . T P =
N g\ | £/ T 3 L — —— E3 ——{— E2—— L
= T : : M(ds3) * L2 1 i 8
< i . : : X a
. /4 s o (T . t T T M) L2 L& I
S o ' ' T : ~ i i i i Q ‘g a i n3 x b1=B2 i
T B\ e 7t A g 5 b B1 4; w Bs . |k B |
7 < A i=— n3 x b1=B2 A4 ‘ it ‘ | I f=— A5 -] .
< ¢ |'¢ B7 ’ — ——, .
Bo c . . 1 o 5.6 ©6 .66 o1
Bs = T - M(da) x L3
- ¢| |¢ ] B IQ d2 —JJRGa LS
','/ ' Il I I 1 ‘ I Asg z=n2 A7
oo © 5 |8 f i B1o ~———Bs ———
- M(da) x L3 '% )i 180° Mo
o W A —fe— J dz2 As
= As B1o Py A7 %:
E2
Et i BREAEHESN, 90° IR 180°R T 5% 0°48 .
wox O H I ] % 5% i i R H
hl M 2 02 4 M 02 4 7L Bl % 2 12 e % f 2R AL
==}
= =7 D, D, D, S5 0 B, B, B, B, Bs Bs | HR| 4 H HE
7 | b | D | oD Mg | s | B B | B B Bo| Bo gz | A o ALl A A L RO f T '
M(d,) XL, o, d, n, nyXb, n,Xb,
M(d,) X L T d, n, n,xXb, n,Xb,
16 ®1600 | $1660 | $1700 | M12x30 28 | 1120|1188 | 1232 | 1280 | 1340 | 1386 | 15 | 38 9%132 | 10x134
8 | 800| 860 | 910 | M10x20 | 16 |560 | 625|669 | 640 | 700| 746| 15| 20 | 5x125 | 5x140 | 560 |297.5]| 697
20 ©2000 | $2070 | 92120 | M12x30 32 | 1400 | 1476 | 1538 | 1600 | 1672 | 1735 | 15 | 40 9x164 | 11x152
10 | $1000 |p1065| 1110 | MI12x20 | 16 | 700 | 765 | 809 | 800 | 860| 906| p15| 20 | 5x153 | 5x172 | 700 |367.5| 759
12 | ¢1200 |p1270| ¢p1330 | MI12x20 | 24 |840 | 900 | 949 | 960 |1008|1066| 15| 24 | 6x150 | 6x168 | 840 |437.5| 932
Z  ¥* K S B R T
Ay A, Ay A4 As Aq A; Ag B; B By Bio E; E, Eg E, Es Eq
7z ¥ R A B R
LR 1120 | 616 | 1303 | 950 | 828 | 950 | 1210 | 1680 | 1200 | 1070 | 1282 | 2086 | 2653 | 1085 | 1568 |1326.5| 1900 |3226.5
i WRE | Taa 1400 | 769 | 1429 | 950 | 954 | 950 | 1520 | 2000 | 1200 | 1070 | 1612 | 2610 | 3328 | 1367.5| 1960.5| 1659.5| 2350 |4009.5
Al A | A | A | t|B | B|E|E|E|E|H|H|H|H|l L |S ke s : : : :
M(ds) XL, | M(d,) XL,
520 [174 | 440 | 640 | 8 | 590 | 510 [1291| 528 | 883[1715| 980 | 280 | 520 |360| 1541.5 | 2 | M24x 630 | M16x400| 98.7 609 %% KOS B RS . KL
L AEHAL
E E E E E E E H H H L kg
520 |166 | 440 | 780 | 10 | 590 | 510 |1611| 658 | 1103|2095 |1200| 280 | 520 |360| 1674.5 | 2 | M24 X630 | M16x400| 127 817 g * ’ 1 " 1 v ! : ° M(d) XL, | M(d,) XL '

3139 | 2593 3113 1300 1550 | 1813 1043 985 695 565 2508 | M30x800 | M24X600 532 2523
700 [208.5 | 620 | 920 | 12 | 780 | 700 | 1931 | 788 |1323|2475|1420| 375 | 500 [360| 2021.5 | 2 | M24 X630 | M16X400| 203 1244 3927 | 3317.5 | 3917.5 | 1650 1950 | 22675 | 1367.5 | 985 695 735 2787 | M30x800 | M30x800 | 830.6 3756

33 34



